‘ Y-R sz

iR
FRSLR R L

FERA
RE Lock Valve, Relief Valve, Bhid[x, ABH /& EEL =5,
{ZER T E 2 &R IFHE S

g
o]
3
o
2
9
Y-0715R Y-1020R Y-1225R Y-1530R Y-2035R
JEE(TIE [mm] 15 20 25 30 35
SEZEEA (Push) [em?] 44 86 122 176 314
SEZEA (Pull) [em?] 37 79 113 160 290
JEZEHES Push [kN(kgf)] 16.6(1693) 32.0(3264) 46.0(4692) 66.0(6732) 117.0(11934)
SEEHES Pull [kN(kef)] 13.9(1417) 29(2957) 42(4283) 60(6118) 108(11013)
BRATI{EES [MPa(kgf/cm?)] 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8)
AR ARAEE [min'] 6000 6000 6000 5500 5500
EMEAE [N - mikg - m)] 0.118(0.012) 0.49(0.05) 0.88(0.09) 1.86(0.19) 3.82(0.39)
4 7.1 10 13.5 22
= Leak £ [£/min] 0.8 0.8 0.8 0.8 0.8
KITAGAWA® Model Y-0715R Y-1020R Y-1225R Y-1530R Y-2035R

X BHESHHLMER,

% _ERHIMEG L T AR AR, RS RN RS,
X% B Leak ERES 3.0MPa, S#iE 50° BYHIE,
% =T EHRIIETRA Kitakawa ##4T OEM 477,



2-M5x10 11
some | | oupemon
y s
E =
. . . R RS
t LY
[\ H
P (d
$3 2-M5x10 @

40 ! o
FaR

Y-0715R Y-1020R Y-1225R Y-1530R Y-2035R
75 105 125 150 200
“ 15 20 25 30 35
104 135 160 190 245
“ 20 100 130 130 145
65 80 110 110 120
M20x2.5 M20x2.5 M24x3.0 M30x3.5 M36x4.0
35 35 44 45 60
172 197 205 214 228
106 108 108 108 106
o ” = -
31 25 26 26 34
n 6-M6x20 6-M10x20 6-M12x24 6-M12x24 12-M16x30
“ 133 158 166 175 189

Rotary Cylinder



	回转油缸 12
	回转油缸 13

